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Atgts VB HE 7' = 7t Hie
Base=I | WEESC) H12 (%) Al ==(8) HI 2 (%) (B/A)
(A) (B)
m MM ® (2,000) 100 (2,000) 100 1.00
a4
=Xt (1,015) 51 (1,002) 50 0.99
of Xt (985) 49 (998) 50 1.01
il
18-29A (232) 12 (268) 13 1.16
30-39A (223) 11 (238) 12 1.07
40-49M| (290) 15 (298) 15 1.03
50-59A| (408) 20 (390) 20 0.96
60-69A (449) 22 (419) 21 0.93
70M Of & (398) 20 (387) 19 0.97
X
GMERH (607) 30 (614) 31 1.01
M HEH (737) 37 (732) 37 0.99
s (656) 33 (654) 33 1.00
ARt SEA &4
e ZAgtE At () Ve HME 7IE AMH=E (F)
= A LR} of X} A R} Of X}
24 2,000 1,015 985 2,000 1,002 998
18~29A| 232 135 97 268 149 119
30~39A 223 124 99 238 128 110
A 4049M| 290 153 137 298 151 147
5059 408 208 200 390 201 189
6069A| 449 224 225 419 210 209
70A| O & 398 171 227 387 163 224
27 607 301 306 614 310 304
1829A 80 41 39 92 52 40
30394 62 38 24 79 43 36
IMEEH 4049M| 89 45 44 89 45 44
5059 120 59 61 113 58 55
6069 137 67 70 125 63 62
70A4| O] & 119 51 68 116 49 67
27 737 382 355 732 366 366
1829A 86 51 35 94 51 43
30394 91 48 43 89 47 42
M HEH 4049M| 102 58 44 113 57 56
5059 150 77 73 146 75 71
60—69A| 166 84 82 156 79 77
70A4 O & 142 64 78 134 57 77
27 656 332 324 654 326 328
1829A 66 43 23 82 46 36
30394 70 38 32 70 38 32
gdsH 40~49M| 99 50 49 96 49 47
5059 138 72 66 131 68 63
60—69A| 146 73 73 138 68 70
70M O & 137 56 81 137 57 80
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[E 1] 21CH CHM Fmole
[21] 62 30 CHEY M7t o FE 0 USLICHL MEEHHME SRS MZo|dL 7t FRSIX|
Cte
A== ( HEEA| =] i R
. S HE EF
™| TN = 7%3; x_ﬂ,a FrY E=1-1 S to| o A
M) | A Zio|ct oy < #
m A = (2,000) (2,000) 90 8 2 1 100
Aghﬂ
=Ml (1,015) (1,002) 89 8 1 1 0 100
ofd|  (985) (998) 90 7 2 0 1 100
E]
18-29M|  (232) (268) 82 15 2 1 0 100
30-39M  (223) (238) 86 11 2 1 0 100
40-49AM||  (290) (298) 91 7 2 1 0 100
50-59A  (408) (390) 92 6 1 0 0 100
60-69A  (449) (419) 91 6 2 0 0 100
70AM O|AH  (398) (387) 91 6 1 0 2 100
FETEE
=FX}F 18-294 (135) (149) 79 17 1 2 1 100
SEXL 30CH  (124) (128) 86 12 1 2 0 100
=X} 4004 (153) (151) 92 7 1 1 0 100
=X} 5004 (208) (201) 91 7 1 0 0 100
SR 60CH  (224) (210) 92 6 2 0 0 100
=X 70M Ol (171) (163) 94 3 0 1 2 100
O Xt 18-29A 97) (119) 85 12 3 0 0 100
O Xt 30CH (99) (110) 87 9 4 0 0 100
Of X} 40CH  (137) (147) 90 6 3 1 0 100
Of X} 50CH  (200) (189) 93 5 1 0 0 100
O{ X} 60CH  (225) (209) 91 6 3 0 0 100
OofXF 70M OA|  (227) (224) 89 7 1 0 2 100
Ho
AMEE2H  (607) (614) 91 7 2 0 1 100
AMGERH (737) (732) 88 9 2 1 1 100
dsd (656) (654) 90 7 1 1 0 100
A
S/Y9/0® (127) (122) 93 4 2 0 2 100
Al (455) (445) 91 7 1 1 0 100
oHof /G A/ ME| AR (172) (175) 89 8 3 0 0 100
A7 |5/ 2 (95) (93) 91 7 0 2 0 100
APR/BEI/H 2R (433) (444) 92 6 2 1 0 100
FH (339) (330) 90 7 2 0 1 100
St (119) (136) 83 14 2 0 1 100
Zl/E|Rl/7|EY  (245) (240) 87 9 1 1 2 100
£/58% (16) (16) 56 37 0 7 0 100
ZHH AS
A @371 (371 92 6 0 1 0 100
= (820) (818) 91 7 2 1 0 100
s (732) (735) 88 9 2 0 1 100
2E/RS8E (77) 77) 75 13 1 3 8 100
ol'd g%
IRl (490) (494) 93 6 0 0 0 100
Z=|  (636) (640) 88 9 2 1 0 100
Hal (694) (686) 91 6 1 0 1 100
DE/ZSE| (180 (180) 77 15 4 2 2 100
X8
HE0DIFE  (692) (695) 95 5 0 0 0 100
=alo|gl (796) (779) 91 7 2 0 1 100
TG (64) (64) 92 4 3 1 0 100
JHEME  (145) (152) 86 12 1 1 0 100
Flegt (20) (20) 90 5 0 5 0 100
1 e OE FE 1 (22) 95 5 0 0 0 100
s/BEE/ESH] (262 (268) 74 18 5 2 1 100
21t cf olg
M2 EEF (1,795 (1,791) 100 0 0 0 0 100
23 ERE (152 (155) 0 100 0 0 0 100
HERES (42) (43) 0 0 74 26 0 100
DE/2EH (11) (11) 0 0 0 0 10 100
M F8 XX
O|ZHYH|  (809) (810) 95 4 0 0 0 100
22 (838) (820) 93 6 1 0 1 100
o|=M| (174 (181) 86 12 2 1 0 100
HE= (16) a7 67 27 0 6 0 100
=t ot @) ) 52 0 48 0 0 100
k= ) ) 100 0 0 0 0 100
AS/BE/ESHl (159 (168) 53 28 14 4 2 100
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[ 2] O T2 XX
[22] LHYO| CHEH MAHUO|ZIH, MEEHHME OIS T2 T FT0A FRSIAASLI 27| =Ms 7|2&YLUCH
R %
AbElg= () HEO Spopspsiacy 2F  oaz oaz 2
2 mgE [FSE Hg| UFE how e wse 1A% TET an 25
A A A A leHDo:' (=i e | ?_J%';% S Sl Tod
=) tefl==(38)
. = A m (2,000) (2,000) 41 41 9 1 0 0 4 4 100
FEE
=Ml (1,015) (1,002) 37 41 13 1 0 4 4 100
- o] (985) (998) 44 41 5 1 0 4 4 100
2
- O
18-29M  (232) (268) 32 23 26 1 0 0 9 8 100
30-39M  (223) (238) 34 33 17 2 0 0 8 5 100
40-49M||  (290) (298) 65 21 7 1 0 0 4 2 100
50-59A|  (408) (390) 56 35 4 1 0 0 1 2 100
60-69A|  (449) (419) 37 54 5 0 0 0 3 1 100
70AM O|AH  (398) (387) 20 65 4 0 0 0 4 7 100
MAlpyd
SR 18-29M|]  (135) (149) 13 28 39 1 0 1 10 9 100
SHXb 30CH  (124) (128) 24 32 27 1 0 0 8 8 100
=Xt 400 (153) (151) 65 24 7 0 0 0 3 1 100
SHX} 5oCH|  (208) (201) 56 35 4 1 0 0 1 1 100
=Xt 60|  (224) (210) 36 51 5 1 0 0 4 2 100
=X 70M Ol (171) (163) 20 68 5 0 0 0 2 5 100
Ol X 18-29A 97) (119) 55 17 11 2 0 0 8 7 100
of X} 30CH (99) (110) 46 33 6 4 1 0 7 2 100
of Xt 4oCh|  (137) (147) 65 18 7 1 0 0 5 4 100
of X} 50CH  (200) (189) 57 36 3 1 0 0 1 2 100
Oo{X} 60CH|  (225) (209) 37 56 4 0 0 0 2 0 100
. O{XF 70Ml O|A  (227) (224) 20 63 3 0 0 0 4 9 100
g
gdMe=d  (607) (614) 40 40 10 1 0 0 5 3 100
MR (737) (732) 43 38 9 1 0 0 4 5 100
- d=sH (656) (654) 38 45 7 0 0 4 4 100
A
/90 (127) (122) 34 54 5 1 0 0 4 2 100
Xl (455) (445) 38 48 7 1 0 0 4 2 100
R/ G A/ ME| AR (172) (175) 44 37 10 2 0 0 4 3 100
M5/ = 2 (95) (93) 43 42 9 0 0 0 3 3 100
AP/ /2R (433) (444) 56 25 11 1 0 0 4 3 100
FHl (338) (330) 33 54 5 0 0 0 3 5 100
st (119) (136) 31 17 31 0 1 1 9 11 100
SR/E|Rl/7|EH  (245) (240) 34 48 5 1 0 0 6 5 100
A AE 2E/2SH (16) (16) 12 44 12 0 0 0 6 26 100
ox‘l x—| H =2
A 371) (371 45 41 9 1 0 0 2 2 100
= (820) (818) 42 41 8 1 0 0 4 3 100
sl (732) (735) 37 41 10 1 0 0 5 5 100
- BE/29rh (77) 77 29 38 9 0 0 0 9 16 100
0|3/ d¢g
TIE (490) (494) 78 10 6 1 0 0 2 2 100
2| (636) (640) 46 31 12 1 0 0 6 3 100
B3 (694) (686) 12 73 8 1 0 0 3 3 100
- RE/2SE|  (180) (180) 26 37 9 1 1 1 10 17 100
SIS
HEOUFZ  (692) (695) 96 1 1 0 0 0 1 1 100
=aloJsll  (796) (779) 1 90 3 0 0 0 3 3 100
TG (64) (64) 84 0 8 0 0 0 3 5 100
IS AE  (145) (152) 4 17 73 2 0 0 4 1 100
L=, (20) (20) 76 10 0 10 0 0 5 0 100
1 e e g¢ @1 (22) 19 52 4 13 0 0 5 7 100
o I%%/E%/$%E’ (262) (268) 22 28 12 2 1 0 18 17 100
21t tfd ExOl%
M2 EEZF (1,795 (1,791) 43 42 9 1 0 0 2 3 100
23 EEZE| (152 (155) 21 31 15 3 0 0 17 13 100
HEES (42) (43) 4 16 9 2 2 0 62 4 100
» - 2E/2SH (11) (11) 21 44 0 0 0 0 17 18 100
M 8 XX =
O|Z T  (809) (810) 100 0 0 0 0 0 0 0 100
22 (838) (820) 0 100 0 0 0 0 0 0 100
o|FM|  (174) (181) 0 0 100 0 0 0 0 0 100
HE= (16) a7 0 0 0 100 0 0 0 0 100
ot ) ) 0 0 0 0 100 0 0 0 100
33z ) ) 0 0 0 0 0 100 0 0 100
s/2E/28Hl (159 (168) 0 0 0 0 0 0 52 48 100
X 'RAL ok AT S0 BE2EE 42 01%
X 'Bad ST A SMA2[0A B2EY B2 01%
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[E 3] O =8 A& X|X| o
(23] MMEAME SA SRSIAZCID BB FEE GO 2 AHE XX[SHA|ZS L OfLH X|X| FE2E HHH A = '%LIHP
CHo| -
A= () X sHZ Y =
= i) meE [Jpsg Hg S Ang o LTER AE 28 A
AE=(E) | At
= HA m (1,841) (1,832 86 13 1 100
Aghﬂ
= (933) (918) 85 14 1 100
o (908) (914) 87 12 0 100
E]
18-29AMI|  (193) (222) 65 35 0 100
30-39Ml|  (195) (207) 73 26 1 100
40-49Ml|  (272) (279) 90 10 0 100
50-59All  (395) (378) 91 8 1 100
60-69M|  (431) (402) 93 6 1 100
70AM| O|AH  (355) (345) 92 8 0 100
MepyH
SXF 18-29M  (110) (121) 63 37 0 100
=X+ 30CH (104) (108) 70 29 2 100
=X 40Cy (147) (145) 90 10 0 100
=X+ 50CH (202) (195) 92 7 1 100
=Xt 60CH  (211) (198) 91 8 1 100
=Xt 70M O|&|  (159) (152) 94 5 1 100
Oof X} 18-29AM (83) (101) 68 31 1 100
of X} 30CH (91) (100) 77 23 0 100
Oof X} 40CH  (125) (134) 90 10 0 100
OofX} 50CH  (193) (182) 91 9 0 100
ofX} 60CH  (220) (204) 95 4 1 100
O{ X} 70M| O|AH  (196) (193) 90 10 0 100
Ho
AMe23  (558) (560) 85 14 1 100
AMEH (676) (670) 87 13 1 100
d=sH (607) (602) 87 12 100
A
S//01 Y (120) (115) 92 7 2 100
g @27) 417) 91 9 0 100
THof /G /A H| A (160) (162) 84 15 1 100
A7 |5/ 2 (89) (87) 83 16 1 100
AP/ /MR (407) (415) 84 16 0 100
FE (312 (303) 90 9 0 100
ot (97) (109) 68 31 1 100
Z/E|=l/7|EH (218) (213) 86 13 1 100
RE/2SH (11) (11) 72 19 9 100
M AE
A (359) (358) 88 11 1 100
= (763) (758) 87 13 0 100
sH  (661) (659) 86 14 0 100
2E/2SH (58) (58) 78 16 7 100
ol'd g%
Tl @471) (474) 89 11 1 100
Sz (580) (580) 83 16 0 100
Hl (656) (647) 87 12 1 100
DE/RSH| (134 (131) 85 14 1 100
XXt
HE0RFLE  (680) (681) 92 8 0 100
=alo|sl (755) (737) 89 10 1 100
ZIZE Al (59) (58) 91 9 0 100
NG (138) (144) 71 29 0 100
L=, (19) (19) 84 16 0 100
1 e e g¢ (19) (19) 85 15 0 100
US/RE/2SE] (171 (173) 64 34 2 100
21CH oy o|gt
M2 EEEZ (1,711) (1,703) 88 11 1 100
23 EHEZE|  (108) (108) 60 38 2 100
HERS (15) (14) 72 28 0 100
2E/2SH @ @ 74 13 14 100
M EH XX
O|ZE|  (809) (810) 91 9 0 100
A2 (838) (820) 89 10 1 100
O|&A (174) (181) 61 39 1 100
HE= (16) (17 23 77 0 100
=TimEsly ) ) 0 100 0 100
33 (2) ) 51 0 49 100
AS/BE/2SE (0) (0) 0 0 0 0
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[E 4] Tz
[24) O/ THEY MAOM TS F £

CHe
At (F) SHO| Az SHO SHO SHOo ==}
A4 AU IS0 TE| my | mes oM i wd Lod o8y s
ArEll=(E) | AR (E)
- = A m (2,000) (2,000) 6 21 45 26 2 100
!
=Ml (1,015) (1,002) 6 20 44 29 1 100
o4 (985) (998) 7 22 46 23 3 100
[<E]
18-29M  (232) (268) 8 39 41 12 1 100
30-39M  (223) (238) 4 31 43 21 1 100
40-49M||  (290) (298) 7 21 57 15 1 100
50-59Al|  (408) (390) 4 20 53 22 2 100
60-69A  (449) (419) 5 15 44 34 1 100
70AM| O|AH  (398) (387) 10 10 33 41 6 100
ETEE]
=X}F 18-294 (135) (149) 4 37 43 15 1 100
SHXb 30CH  (124) (128) 3 36 39 20 2 100
=X 40Cy (153) (151) 7 22 56 15 1 100
=X+ 50CH (208) (201) 4 14 54 25 2 100
=Xt 60CH (224) (210) 6 14 39 41 0 100
=X 70M Ol (171) (163) 9 8 32 49 2 100
Ol R 18-29A (97 (119) 12 41 39 8 0 100
of X} 30CH (99) (110) 5 24 48 22 1 100
of X} 40CH|  (137) (147) 6 21 58 14 1 100
of X} 50CH  (200) (189) 3 25 53 18 1 100
o X 60CH|  (225) (209) 4 17 50 27 2 100
O{ X} 70Ml O|A  (227) (224) 11 12 33 36 8 100
HAS
AMe2d  (607) (614) 5 23 45 26 1 100
gAML (737) (732) 6 20 47 24 3 100
- AsH (656) (654) 8 20 44 27 100
A
/90 (127) (122) 5 13 46 32 5 100
Xl (455) (445) 5 16 45 33 1 100
mHOf G A/ ME| AR (172) (175) 6 30 41 20 3 100
M5/ = 2 (95) (93) 6 23 42 27 1 100
APR/RE| /M2 (433) (444) 4 25 55 15 1 100
FHl (338) (330) 7 15 44 29 4 100
gt (119) (136) 9 38 40 14 0 100
SR/E|Rl/7|EH  (245) (240) 10 17 37 34 2 100
2E/2SH (16) (16) 12 26 24 25 13 100
ZHH AS
A 371) (371 7 18 50 24 1 100
= (820) (818) 7 22 46 25 1 100
sl (732) (735) 4 23 44 27 2 100
ZE/28H (77) 77) 13 13 28 28 18 100
ol'gdg
TIE (490) (494) 7 27 59 7 0 100
== (636) (640) 6 21 48 23 2 100
B3 (694) (686) 6 19 33 41 1 100
RE/FSEH| (180 (180) 6 13 41 27 13 100
Xxge
HeofolFg  (692) (695) 9 24 62 4 2 100
=aloJsll  (796) (779) 7 13 31 48 1 100
T Mg (64) (64) 4 22 67 5 2 100
IS AE  (145) (152) 2 35 47 15 1 100
Tl (20) (20) 10 25 50 5 10 100
1 e e g¢ 1) (22) 5 28 40 24 4 100
Gs/EE/2SH| (262 (268) 1 29 35 29 6 100
21t i EEO|E
M2 EEZF (1,795 (1,791) 6 20 46 26 2 100
23 EEZE| (152 (155) 5 26 41 24 3 100
HEES 42) (43) 4 27 30 34 5 100
2E/2SH (11) (11) 21 8 35 18 18 100
M =& XX =
O|Z |  (809) (810) 8 25 62 3 1 100
24 (838) (820) 6 12 29 51 1 100
O|FM|  (174) (181) 1 36 52 10 1 100
HE= (16) (17) 0 47 24 29 0 100
Tamie) @) @) 0 48 52 0 0 100
Srs ) ) 0 0 49 51 0 100
s/2E/2SHl (159 (168) 3 23 34 30 10 100
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(& 5] OM =2 M 7tsH
[E5] U Hel XX Fet= HAGO| L5 =2 F A7 &B0| & 7ts80| 7t =2
7|z LIt

>
o
rlo
r
-
L)
fd

MU =Me

el %
At () HEO Soopsipsiacy 2F  oasa oax =
25 EEE (PR g 8D ok bk =89 159 TET e B A
(= o = S Sl Tod
Atel(R) | Ate(E) | 013 2=
= A m (2,000 (2,000) 54 32 4 0 0 0 5 4 100
S
Al (1,015) (1,002) 55 31 5 0 0 0 5 4 100
ol (985) (998) 54 34 2 1 0 0 4 5 100
od
18-29AMI|  (232) (268) 65 17 7 1 0 0 5 5 100
30-39Ml|  (223) (238) 60 22 7 1 0 0 8 2 100
40-49M||  (290) (298) 74 17 2 0 0 0 3 3 100
50-59AMl|  (408) (390) 64 29 2 0 0 0 3 1 100
60-69M||  (449) 419) 46 42 3 0 0 0 5 4 100
70M O|&  (398) (387) 28 53 3 0 1 0 4 11 100
MAlpyd
X 18-294 (135) (149) 58 19 10 0 0 1 6 7 100
SERF 30CH  (124) (128) 59 19 10 0 1 0 9 2 100
SR 40CH]  (153) (151) 73 19 3 1 0 0 3 1 100
SR 50CH|  (208) (201) 65 27 3 0 0 0 2 1 100
SHRF 60CH|  (224) (210) 46 40 2 0 0 0 7 4 100
=X 70M Ol (171) (163) 30 55 3 0 1 0 2 8 100
Of X} 18-29A| (97) (119) 74 14 3 1 0 0 5 2 100
O{ X} 30CH (99) (110) 60 27 4 2 0 0 6 2 100
of Xt 40Ch|  (137) (147) 75 16 2 0 0 0 3 5 100
O{ X} 50CH|  (200) (189) 62 32 0 0 0 0 4 2 100
O{ X} 60CH|  (225) (209) 46 44 4 0 0 0 3 3 100
.- O{ X} 70M| O|&H  (227) (224) 26 52 2 0 0 0 6 13 100
g
AMEEH  (607) (614) 57 30 4 0 0 4 4 100
IMEERH  (737) (732) 55 31 3 1 0 0 5 5 100
A=H  (656) (654) 51 36 4 4 3 100
A
s/A/0  (127) (122) 44 47 2 0 0 0 2 6 100
AHA| (@455) (445) 48 40 4 0 0 0 5 2 100
O/ G A/ MH| AR (172) (175) 58 28 4 0 0 0 6 4 100
AT | S/ 2| (95) (93) 47 38 2 0 1 0 5 6 100
AR /e /M E 3 (433) (444) 73 19 2 1 0 0 3 1 100
Z=H| (338) (330) 42 40 4 1 0 0 5 8 100
skl (119) (136) 66 12 10 0 0 1 6 5 100
SR/E|Rl/7|EH  (245) (240) 48 38 2 1 1 0 5 5 100
oE/28H (16) (16) 18 13 6 0 0 0 13 49 100
XA AE
P EYA)) (371) 56 33 3 1 0 0 4 2 100
= (820 (818) 55 33 4 0 0 0 4 4 100
sl (732) (735) 54 32 4 0 0 0 6 4 100
oE/28H (77) 77 40 26 1 0 0 0 8 24 100
ol g g%
FE (490 (494) 85 10 2 0 0 0 2 1 100
=2 (636) (640) 62 24 4 1 0 0 5 4 100
B4 (694) (686) 29 58 4 0 0 0 5 4 100
2E2/288H  (180) (180) 41 28 3 1 0 1 7 19 100
X x1gg
HE0UFY  (692) (695) 94 1 1 1 0 0 2 1 100
Aol (796) (779) 17 72 3 0 0 0 3 5 100
ZZE Al (64) (64) 82 1 5 3 0 0 6 3 100
MG (145) (152) 58 12 25 0 0 0 2 3 100
Rl eh (20) (20) 86 10 0 0 0 0 0 5 100
1 e e g 1) (22) 35 48 0 4 0 0 4 9 100
Us/EE/ESH| (262 (268) 49 19 2 0 0 0 16 13 100
210 i EEOIE
M2 EEZE (1,795 (1,791 55 34 4 0 0 0 4 4 100
22 EEZX (152 (155) 53 21 2 1 0 0 11 12 100
HEES 42) 43) 55 16 5 0 0 0 18 7 100
2E/28H (11) (11) 29 43 0 0 0 0 18 9 100
M 2E XX E
O|ZH|  (809) (810) 94 0 1 1 0 0 3 1 100
24| (838) (820) 16 74 3 0 0 0 3 4 100
o|&N (174) (181) 64 9 20 0 0 0 4 4 100
HY= (16) a7 64 6 6 0 0 0 18 6 100
ot ) (2) 48 0 0 0 0 0 52 0 100
ek ) (2) 0 0 0 0 0 100 0 0 100
A=/ 288 (159 (168) 41 13 2 0 1 0 20 24 100

> Ol
N

=M S

=2

Y YT 2H SWAZ oM BSBY B2 04%
= 2
H SWMAZoA SrE2de 3
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[26] O|H CHEH MHOAM HES JFSE EREE [&A
tote 240 Chal
A= (B) .
HA TARIE A
At ==(3)
e = HA m (2,000)
- 100
EE (1,015)
Ml (985) 100
- 100
18-29M  (232)
30-39M  (223) 100
40-49M| (290) 100
50-59A (408) 100
60-69A1  (449) 100
e 70M OA  (398) 188
erum-z%l (135)
Elﬂ 30CH  (124) 100
4%t aocfl  (153) 100
4% socfl  (208) 100
L SHRE 60 (224) 100
=X 704 O (171) 100
Oof X} 18-29AM 97) 100
of Xt 30CH (99) 100
O{Xt 40CH  (137) 100
O{Xt 50CH  (200) 100
O{Xt 60CH  (225) 100
A OfXt 70Ml Ol4&H  (227) 100
- 100
83 (607)
83 (737) 100
- S  (656) 100
- 100
/0% (127)
- XE (455) 100
= AZE (172) 100
25 (95) 106
=% (433) 100
el I 100
el (119) 100
B
EL 100
ZHA As el 100
A @71
g & 100
pennd| 2 e
— o/ T od
ol g g% 100
T (490)
=2|  (636) 100
= I:I%—E)ﬁ (694) 100
I DE/2SH|  (180) 188
HEof2=g (692
=AY (796) 100
ZRHME (64) 100
HEAE (145) 100
FlE (20) 100
§§ 0 100
SH 262 100
210 M EEO|E 202l 100
SES| (1,795
iﬂ_iﬁ LTS 100
52 e
— T od
M $H XX E = 100
O|ZHYH|  (809)
HET (838) 100
O|=M|l (174 100
oY= (16) 100
ot (2) 100
ek ) 100
s/EE/28E]l (159 100
100
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[27] Ol &P MAHOAM [=A E: =22 =4 FEP7L Aoe 24 FEZ HESRY Og FES0]

el %
A% () Ha 2003 2E/
| XA [JIEy g UFEY Lox CHE R eict oot |
Atela(®) | Aela®) | oMY e et
= A m (2,000) (2,000 41 46 1 9 2 100
Al
Al (1,015) (1,002) 38 48 1 10 2 100
ol (985) (998) 44 45 1 8 3 100
o
18-29AMI|  (232) (268) 35 35 2 22 6 100
30-39Ml|  (223) (238) 39 43 2 15 1 100
40-49M|  (290) (298) 64 24 1 9 1 100
50-59Al|  (408) (390) 56 39 1 3 1 100
60-69M||  (449) 419) 36 57 1 5 1 100
70M O|&  (398) (387) 19 69 0 7 5 100
ETEE]
X 18-294 (135) (149) 19 46 2 27 7 100
SERF 30CH  (124) (128) 31 46 2 20 2 100
SR 40CH]  (153) (151) 64 26 1 9 1 100
SR 50CH|  (208) (201) 56 39 0 3 0 100
SHRF 6OCH|  (224) (210) 37 57 1 4 2 100
=X 70M Ol (1771) (163) 17 73 1 7 2 100
Oof X} 18-29AM (97) (119) 56 22 2 16 4 100
of Xt 30CH (99) (110) 49 38 3 10 0 100
Oof X} 40Ch|  (137) (147) 65 23 1 9 2 100
O{ X} 50CH|  (200) (189) 56 39 1 3 1 100
O{ Xl 60CH|  (225) (209) 36 58 0 6 0 100
O{At 70M O|AH  (227) (224) 20 66 0 7 7 100
HAS
S| (607) (614) 41 45 2 10 2 100
IAMEEH  (737) (732) 45 44 1 8 3 100
A=d  (656) (654) 38 51 1 9 2 100
A
s/A/0 (127) (122) 36 55 1 7 2 100
AHA|  (455) (445) 38 54 0 7 2 100
O/ G A/ MHE| AR (172) (175) 44 40 3 13 1 100
AT | s/ 2 A (95) (93) 44 45 0 8 4 100
AR /e /M E 3 (433) (444) 57 32 0 10 0 100
FE (3398) (330) 33 57 0 7 3 100
skl (119) (136) 37 31 2 21 8 100
SR/E|Rl/7|EH  (245) (240) 33 54 2 7 4 100
2E/2SH (16) (16) 13 56 6 6 19 100
YA AE
I CYA)) (371) 47 46 0 6 1 100
= (820 (818) 43 46 1 8 2 100
sH (732) (735) 38 47 1 11 3 100
oE/28H (77) (77) 29 42 1 15 13 100
olgdE
e (490) (494) 78 15 1 5 1 100
=2|  (636) (640) 47 39 1 11 2 100
B4 (694) (686) 13 78 1 7 1 100
2E2/288H  (180) (180) 26 43 1 16 15 100
X|xdet
HE0UFY  (692) (695) 92 2 0 4 1 100
Aol (796) (779) 2 94 0 3 1 100
=g (64) (64) 86 3 2 7 2 100
MG (145) (152) 14 44 4 38 1 100
Rl eh (20) (20) 76 10 0 10 5 100
1 e e g 1) (22) 30 56 13 0 0 100
US/EE/ESH| (262 (268) 25 35 3 25 1 100
210 i EEoIE
M2 EEZE (1,795 (1,791) 44 47 1 7 2 100
AT ERZE (152) (155) 21 48 2 20 10 100
HEERES (42) (43) 4 31 2 62 0 100
RE/REY (11) (11) 12 52 0 27 9 100
O™ EE XX E
O|ZH|  (809) (810) 95 1 0 3 1 100
24| (838) (820) 0 98 0 1 0 100
o|&N (174) (181) 19 35 3 38 4 100
HY= (16) (17) 26 12 29 33 0 100
ot ) ) 0 48 52 0 0 100
ek ) 2) 0 49 0 51 0 100
s/2E/28E] (159 (168) 8 27 2 44 18 100
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: O|X & vs O|FEAM
SH7} JHHAC O|FEN SHE CHABSI0] O RS0

(28] Ol% ChS MAOA (A UF: Z0o =4
b RRSlzoR gcaHELUL,

el %
A% (1) = = N BE/
A A E | JEa 8g | UFE Y OE 2= ATt o ort A
Aela(E) | Ala®) | oMY c e"
= A m (2,000) (2,000 40 33 2 21 4 100
Al
Al (1,015) (1,002) 36 39 2 19 4 100
ol (985) (998) 43 27 2 22 5 100
o
18-29AMI|  (232) (268) 35 45 1 13 7 100
30-39Ml|  (223) (238) 35 47 2 15 1 100
40-49M|  (290) (298) 62 22 1 12 3 100
50-59Al|  (408) (390) 55 24 2 17 1 100
60-69M||  (449) 419) 35 34 2 25 4 100
70M O|&  (398) (387) 18 34 3 35 10 100
ETEE]
=X}F 18-294 (135) (149) 14 65 1 13 8 100
SERF 30CH  (124) (128) 22 64 1 11 2 100
SR 40CH]  (153) (151) 63 23 1 12 1 100
SR 50CH|  (208) (201) 56 25 2 17 1 100
SHRF 6OCH|  (224) (210) 37 32 3 23 5 100
=X 70M Ol (1771) (163) 18 36 5 36 5 100
Oof X} 18-29AM (97) (119) 61 20 1 12 6 100
of Xt 30CH (99) (110) 50 27 4 19 0 100
Oof X} 40Ch|  (137) (147) 62 21 2 11 4 100
O{ X} 50CH|  (200) (189) 55 24 3 18 1 100
O{ Xl 60CH|  (225) (209) 33 35 2 27 3 100
OfX} 70M| O|AH  (227) (224) 19 32 2 34 13 100
HAS
AMEEH  (607) (614) 40 35 1 20 4 100
IAMEEH  (737) (732) 43 31 2 19 5 100
- A=d  (656) (654) 36 33 3 23 4 100
A
s/A/0 (127) (122) 33 32 3 30 2 100
AHA|  (455) (445) 38 37 1 21 3 100
Tho{/E /A H| A E] (172) (175) 43 35 2 17 2 100
AT | s/ 2 A (95) (93) 41 31 4 19 6 100
AR /e /M E 3 (433) (444) 56 29 2 12 1 100
FE (3398) (330) 32 33 3 26 7 100
skl (119) (136) 33 43 1 13 10 100
SR/E|Rl/7|EH  (245) (240) 31 28 4 30 7 100
oE/28H (16) (16) 19 24 0 31 25 100
ZHH AE
I CYA)) (371) 46 32 3 16 3 100
= (820 (818) 41 33 2 20 3 100
sH (732) (735) 36 35 3 22 5 100
2E/2SH (77) 77) 28 26 3 29 15 100
olgdE
e (490) (494) 77 14 1 7 1 100
=2|  (636) (640) 45 32 3 17 3 100
B4 (694) (686) 12 49 3 32 4 100
DE/2SH (180 (180) 24 28 2 28 19 100
X|xdet
HeFH  (692) (695) 91 4 0 4 1 100
Aol (796) (779) 3 52 4 36 5 100
ZIHAG (64) (64) 86 6 2 2 4 100
MG (145) (152) 3 92 1 3 0 100
Rl eh (20) (20) 76 0 0 24 0 100
1 e e g 1) (22) 26 25 18 31 0 100
US/EE/ESH| (262 (268) 22 31 2 32 13 100
21 M EmolTt
M2 EEZE (1,795 (1,791) 42 33 2 19 4 100
22 EBZE (152 (155) 20 38 4 28 10 100
HERS 42) 43) 7 25 2 66 0 100
2E/28H (11) (11) 12 8 9 44 27 100
M &8 XX E
O|ZHH|  (809) (810) 93 3 0 4 0 100
24| (838) (820) 2 53 4 37 4 100
o|&N (174) (181) 5 90 0 2 2 100
HY= (16) (17) 26 23 29 21 0 100
=TimEsly @) @) 0 0 52 48 0 100
ek 2) 2) 0 51 0 0 49 100
s/2E/28E] (159 (168) 9 23 4 40 24 100
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(& 9] CHM QA
[29] MU EHHME O/ HEE MALt &Tsto CH3el o/ & ojC|of & 3&0| 7t L 7t?
Cto
Atddl == ( A WEES Aol 3 nHE s
A FA = 7%5; x_ﬂ,a 712 ol ZHO|  7|E oA FHO HE/RSH A
A | AR 22 MojFof 3t Blg HO{FOf BiCt
. = A m (2,000) (2,000) 44 47 9 100
FEE
=AMl (1,015) (1,002) 46 45 9 100
ofd|  (985) (998) 41 49 10 100
ol
18-29A4  (232) (268) 30 53 17 100
30-39AMI|  (223) (238) 40 48 11 100
40-49A  (290) (298) 28 65 7 100
50-59A|  (408) (390) 37 60 3 100
60-69A  (449) (419) 55 39 5 100
70M O&  (398) (387) 62 24 14 100
EREE]
=FX}F 18-294 (135) (149) 37 41 22 100
=AF 30CH  (124) (128) 44 42 14 100
=AF 4004 (153) (151) 32 65 3 100
=X+ 50CH  (208) (201) 37 60 4 100
=AF 60LH  (224) (210) 55 39 6 100
=X 70M O (1771) (163) 69 23 7 100
Of X} 18-29A| 97) (119) 21 67 12 100
of Xt 30CH (99) (110) 36 55 9 100
ofX} 40CH  (137) (147) 24 65 11 100
O{X} 50CH|  (200) (189) 37 60 3 100
O{X} 6OLH|  (225) (209) 55 40 5 100
O X} 70M| OfAH  (227) (224) 56 25 19 100
HAH
AMEE2H  (607) (614) 42 48 9 100
AMLIGERH (737) (732) 41 51 8 100
gdsd (656) (654) 48 42 10 100
A
S/Y9/0® (127) (122) 55 36 9 100
ArEel  (455) (445) 52 43 5 100
THOj /G R/ MH| AR (172) (175) 42 52 6 100
A 7|5/ T A (95) (93) 46 45 9 100
APR/EE|/HER| (433) (444) 30 63 7 100
ZFEI (3398) (330) 50 37 13 100
ot (119) (136) 28 54 18 100
Zl/E|Rl/7|EH  (245) (240) 50 39 11 100
£/28H (16) (16) 30 19 50 100
A AS
Al (371) (371) 41 53 6 100
= (820) (818) 44 50 100
sl (732) (735) 46 43 11 100
DE/F8H 77 (77) 36 24 40 100
ol'd/ g%
TIE] (490) (494) 15 82 4 100
Z2|  (636) (640) 36 55 9 100
Hal (694) (686) 74 20 6 100
DE/ZSE| (180 (180) 35 29 37 100
PRSI
CE0RF|  (692) (695) 5 91 4 100
=alo|gl (796) (779) 86 9 5 100
TG (64) (64) 3 93 4 100
TN (145) (152) 37 44 18 100
IR (20) (20) 5 86 9 100
1 2 OHE FE (1) (22) 46 32 22 100
AUS/DE/ESE] (262 (268) 37 32 30 100
210 i Emo|ek
M3 EEE (1,795 (1,791 44 49 7 100
23 EEE (152 (155) 44 34 22 100
HEES (42) (43) 33 29 38 100
2E/28H (11) (11) 17 29 54 100
M =8 XX
O|ZHE|  (809) (810) 5 92 3 100
U2 (838) (820) 88 6 6 100
olEA| (174 (181) 30 50 19 100
HA= (16) (17) 18 55 27 100
S} OH ) ) 52 0 48 100
ok (2) ) 49 0 51 100
AS/BE/ESE] (159 (168) 35 26 39 100
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[Z10] Xt7| CHEHO| 7hd 24

10] Xt7| LS
4

(=
MHo=z sfiZshof

CHe
A Al N
A== (3) ;;; 2 s
S T (PN RE/
A AR | 7EY g | A H A oot A
AdlaE) | ARS®) | S H °
B
= A m (2,000) (2,000) 17 9 2 100
AJH:I
=AMl (1,015) (1,002) 19 9 5 1 100
o] (985) (998) 15 8 4 3 100
E]
18-29AMI|  (232) (268) 17 4 7 8 1 100
30-39M|  (223) (238) 17 1 9 8 0 100
40-49M|  (290) (298) 9 2 10 5 0 100
50-59All|  (408) (390) 17 2 8 3 0 100
60-69M||  (449) (419) 20 2 8 2 1 100
70M| O|4H  (398) (387) 20 1 9 3 8 100
MHpyH =
=HXF 18-294 (135) (149) 23 3 7 10 1 100
SEXF 30CH  (124) (128) 19 2 10 6 0 100
=Xt 40Cy (153) (151) 8 2 12 6 0 100
SR} 50CH  (208) (201) 20 1 6 3 0 100
SR 60CH  (224) (210) 22 2 8 3 0 100
=X 70M Ol (1771) (163) 20 1 14 3 4 100
Of X} 18-29A 97) (119) 11 5 9 4 1 100
of X} 30CH (99) (110) 14 1 8 9 0 100
of X} 40CH  (137) (147) 11 2 8 4 0 100
OofX} 50CH  (200) (189) 15 2 10 4 0 100
ofX} 60CH  (225) (209) 18 2 8 1 1 100
OfXt 70M O[AH  (227) (224) 19 2 6 3 11 100
HH
AMELH (607) (614) 18 2 9 4 2 100
AMEEH (737) (732) 16 2 8 5 2 100
g (656) (654) 18 2 9 4 2 100
A
s/2/008  (127) (122) 16 2 11 3 3 100
A (455) (445) 17 2 11 3 0 100
THOj/ YR/ MH| AR (172) (175) 12 3 11 3 1 100
MA 7| 5/ B (95) (93) 15 4 7 3 1 100
AP /R /2Rl (433) (444) 17 2 9 3 0 100
ZFHI (3398) (330) 18 1 5 4 4 100
SHMl (119) (136) 19 4 6 12 0 100
SE/E|Zl/7|EH  (245) (240) 20 2 8 5 6 100
S/£8H (16) (16) 13 0 12 18 32 100
M AS
Al (371) (371) 18 3 10 4 0 100
= (820 (818) 18 1 8 4 1 100
sH (732) (735) 16 2 9 4 1 100
2E/28H 77 77) 9 1 7 12 24 100
o'/ dgr
| (490) (494) 13 1 9 2 100
=S| (636) (640) 18 2 7 4 100
B (694) (686) 20 2 10 4 100
RE/2SH| (180 (180) 11 3 6 12 15 100
x|t
HQEIFZH  (692) (695) 1 1 6 3 1 100
=2lo3 (796) (779) 22 3 11 3 2 100
e Pl (64) (64) 10 0 2 3 2 100
INEHAE  (145) (152) 23 2 13 7 0 100
Rl (20) (20) 10 0 20 5 0 100
1 2 CHE Y 21) (22) 19 6 9 13 0 100
AUS/DE/ESE| (262 (268) 16 4 7 9 5 100
21t thM EEOo|g
M3 EEZEF (1,795 (1,791) 17 2 9 4 1 100
23 EHZE|  (152) (155) 14 6 10 7 6 100
HERS 42) 43) 22 2 4 18 5 100
DE/2EH (11) (11) 29 8 0 9 18 100
M 38 XX
O|XE|  (809) (810) 10 1 6 3 1 100
424  (838) (820) 23 2 11 4 3 100
O|FZAM|  (174) (181) 21 4 12 7 0 100
H= (16) (17 12 9 17 6 0 100
2ot (2) ) 0 0 0 52 0 100
k=l (2) ) 0 0 0 0 0 100
AS/BE/ESE] (159 (168) 17 3 5 12 7 100
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(E 1] YR E

[E11+211-1] S EHME OS & o= Y2 KRS E‘"*% o2 gyca|AsLch & 211-1. 28, o= Mo =3F0|2t: O
SUO| 7 HQTIE? BE #22 28 E2|ZA&LICH
chHe|
N E ) ol 3 e X|X|sH =
o AT IR &1% Eﬁoi FeY oo MMeE Ase gE o omeol S5 A
At () | Argf= g | gl
= A m (2,000 (2,000) 35 39 3 8 1 1 12 1 100
S
Al (1,015) (1,002) 30 39 3 12 1 0 13 2 100
ol (985) (998) 39 39 3 3 1 2 11 1 100
L]
18-29M  (232) (268) 28 22 3 21 1 1 20 3 100
30-39Ml|  (223) (238) 31 29 2 17 0 2 19 0 100
40-49M||  (290) (298) 56 20 5 5 0 3 11 0 100
50-59AMl|  (408) (390) 46 34 5 4 2 1 9 0 100
60-69M||  (449) 419) 31 50 3 4 1 1 10 0 100
70M O|&  (398) (387) 18 65 2 2 1 0 8 4 100
MAlpyd
SERF 18-29M|  (135) (149) 13 28 2 33 0 0 19 5 100
SERF 30CH  (124) (128) 20 30 2 26 1 0 21 1 100
SR 40CH]  (153) (151) 52 26 6 6 0 1 10 0 100
SR 50CH|  (208) (201) 43 33 5 5 3 0 10 1 100
SHRF 60CH|  (224) (210) 30 47 3 4 3 0 11 1 100
=X 70M Ol (171) (163) 18 66 2 4 0 0 8 2 100
Of X} 18-29A| (97) (119) 47 15 4 7 2 2 21 1 100
O{ X} 30CH (99) (110) 43 28 2 6 0 5 18 0 100
of Xt 40Ch|  (137) (147) 60 14 4 5 1 4 13 0 100
O{ X} 50CH|  (200) (189) 49 34 4 2 1 1 8 0 100
O{ X} 60CH|  (225) (209) 32 52 3 3 0 1 8 0 100
. O{ Xt 70Ml O|A  (227) (224) 19 65 2 1 1 0 8 5 100
g
AMEEH  (607) (614) 35 40 3 9 1 1 10 100
IMEERH  (737) (732) 37 36 3 7 1 1 12 1 100
- A=H  (656) (654) 32 42 3 6 1 1 13 2 100
A
s/A/0  (127) (122) 29 48 2 5 3 1 11 2 100
AHA| (@455) (445) 34 46 3 7 1 1 9 0 100
O/ G A/ MH| AR (172) (175) 39 35 2 10 1 2 12 0 100
AT | s/ 2 A (95) (93) 33 41 7 5 0 0 13 0 100
AR /e /M E 3 (433) (444) 46 22 5 10 2 1 14 0 100
Z=H| (338) (330) 29 54 3 2 0 1 8 2 100
skl (119) (136) 29 16 3 25 2 1 21 4 100
l/E|Zl/7|EH  (245) (240) 30 47 2 5 0 0 14 3 100
RE/RSE, (16) (16) 6 37 0 0 0 0 19 38 100
XA AE
P EYA)) (371) 39 38 4 9 2 1 7 0 100
= (820 (818) 36 39 3 7 1 1 11 1 100
sl (732) (735) 32 39 3 8 1 1 15 1 100
RE/RSE, (77) 77 24 39 1 5 0 0 15 17 100
ol g g%
FE (490 (494) 70 10 5 4 2 1 8 0 100
=2 (636) (640) 39 26 5 11 1 2 17 0 100
B4 (694) (686) 8 73 1 8 0 1 7 1 100
DE/2SH| (180 (180) 26 34 1 4 0 1 24 12 100
X x1gg
HE0UFY  (692) (695) 100 0 0 0 0 0 0 0 100
Aol (796) (779) 0 100 0 0 0 0 0 0 100
ZZE Al (64) (64) 0 0 100 0 0 0 0 0 100
MG (145) (152) 0 0 0 100 0 0 0 0 100
Rl eh (20) (20) 0 0 0 0 100 0 0 0 100
1 e e g 1) (22) 0 0 0 0 0 100 0 0 100
AS/2ZE/RSH] (262 (268) 0 0 0 0 0 0 89 11 100
210 i EEOIE
M2 EEZE (1,795 (1,791) 37 39 3 7 1 1 10 1 100
AT ERZE (152) (155) 21 34 1 11 1 1 25 6 100
HERS 42) (43) 6 31 7 7 2 0 45 2 100
2E/28H (11) (11) 21 61 0 0 0 0 9 9 100
M 2E XX E
O|ZH|  (809) (810) 82 1 7 1 2 1 7 0 100
2% (838) (820) 1 86 0 3 0 1 9 0 100
o|&N (174) (181) 5 13 3 61 0 1 16 2 100
HY= (16) a7 11 6 0 17 11 17 27 9 100
ot ) (2) 0 0 0 0 0 0 100 0 100
ek ) (2) 0 49 0 0 0 0 51 0 100
/2 E/2 8] (159 (168) 8 25 3 5 1 2 46 11 100
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